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8. Tell what you know about any two of the following:—““The Great Fire
?‘f London.” "“The South Sea Bubble.” ‘“The Field of the Cloth of Gold.”
Oliver Cromwell,”

9. Name the chief wars with results; during the reign of Queen Victoria.

. 10: What part did each of the following play in the affairs of Nova Scotia:—
Sir Colin Campbell, Joseph Howe, Sir Charles Tupper, Colonel Cornwalljs.

11.  Tell what you know of the siege and fall of Quebec.

Ri 12. Give the dates of the following :—(a) Discovery of the Mississippi
ver; (b) End of French rule in Nova Scotia; (¢} First Assembly in Nova
cotia; (d) Separation of P, E. Island and New Brunswick from Nova Scotia;
(e) The Battle of Queenston; (f) Rebellion in Lower Canada; (¢) The Reci-

Procity Treaty with the United States; (k) The Fenian Raids,

MATHEMATICS.—VIII.
9to 11 a. m,, Friday, 26 June, 1914.
rect)l' Divide 820875.9103 by 765.43. (Answer of no value if not exactly cor-

gav, 2. A man left an estate of $7600 to be divided among three children. He
¢ to the eldest; 8 of the remainder to the second child. . How much was left

t . 5
® the third child, any what fraction of the whole did this child receive?

2481
38 . [ 7 X
* Find the value of ————

13—y

. 4. Fin] . . .
8in d the cost of papering a room 20 ft. long, 16 ft. wide and 9 fr. high,
eacile3?°"8, 18 inches wide at 30 cents a roll being used, allowing for two windows

©by 8 ft., and a door 3 ft. by 7 .

$956' OWhat is tll:e rate of taxation on a town, whose taxable property amounts

to
ol 85,0 0, and the net tax of which is $18,385 after 59 has been deducted for
or's Commission ? . '

6. s .
twice as Divide $3500 among a man, a woman, and a child, so that the man gets
Much as the woman, and the woman twice as much as the child.

7. K . .
Yearly, Find the compound interest on $175 for 4 years at 79, interest payable
8
37 804 o Reduce 32 . arts T . < i
'894.365 Square inc}:lessh.ds' 8 gallons, 4 quarts, to pints; also express in acres

M"ltiply xl—xy 44 by x+y and divide the result by x*+xy- 8.

Ifx=1- ¥=38, 525, w=2, find the value of
v @xy)+ v (Bxs)— v (6yw).

10.



